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L (14 pt9) You are right next to a fountain. Given two water jugs of 51 and 31 respectively, you
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<) (2pts) Propose a good state evaluation function for measuring P

d) (2 ps) Perform hill climbing search without backtracking:
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2. (5 p#) Compare A*, RBFS and SMA* in terms of memo
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3. (6#) Consider a wodd with objects A, B, and C! We will look at & Togical languag
'I constant symbols X, Y, and Z, predicate symbols , 4, and r, and function symbol £ Consid
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For each of the following sentences, decide whether it is true or false in the given rerp:
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5. (6p0) Let us consider the following incomplete partially ordered plan. What steps are
missing to complete the plan? Mark them in the graph.
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7. (10 pts) Consider the following domain with the goal C A D.

Op.: fizz Preconditon: - Effect: C, A
Op.: fuzz Precondition: - Effect: D, 2A

d) (4pt) What solution is remurned by Partial order planning? (If there are -
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8. (¥ pa) Consider the following Bayesian nepwork:

f
\ _{) PA) =02 P(B) = 0.5 P(C) = 0.8

A B C

PD | A, B) B,C
A B 0.9 =B.C
SA. B 0.6 B,~C
A, 7B 0.5 =B, G
A B 0.1

"{ a) (4 p5) Suppose we know the value of ). Are A and B d-separated given D¢ Are A
and E d-separated given 27

— A & D d-sepovateds X
— A én E rom d-)&pa.m.kd“/

b.) (4 pts) What is the probability of A being false, given that all other vanables are true?
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9. (6 pis) Consider the following fuzzy sets and rles: ﬁ

(R) T x,is g and xei i then y is v,
I.Rg;l H"..h i.'! #'|' Hnd-x; iﬁﬂ'a. then ¥ is 'Im"lI

where X, and X are input fuzzy variables, y is the output fuzzy variable, and g, pi, 44, 4% v, and
v are predicates for the fuzzy variables with the following member functions:
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jon tree and the associated data set.

10. (2 pis) Let us consider the following deeis
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# | Rainy | Sunny | Hot | Summer | Sunday Picnic EE
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a) (3 pts) For each sample in the data set, indicate in the appropriate column
onsidered a false positive or a false negative with respect the answer given
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